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Circle Recitation

Name 1. Deblassie (TR9)
_ 2. Jerison (TR11)
Living Group 3. Mazzeo (TR12)
4. Malkus (MW1)
4-DIGIT I.D. 5. Ajtai #1  (MW2)
T 6. Kalai (TR10)
1 /10 7. Morgan (TR11)
2. /10 8. Richman (MW11)
3. /15 '
A /10 9. Ajtai #2 (MW3)
5. /15 10. Alon (TR12)
g, /10 '
7. /15
8. /15

Check that you have all 4 pages. Put your name on each page. List above any
4-digit I.D. you will be able to remember, such as the last 4 digits of your MIT
I.D. Circle your recitation. Put your work and answers on this test. Circle

answers. The value of each problem is indicated in parenthesis, 100 points total.

Work and neatness count. In general, wrong answers receive no partial credit.
Solutions posted by 2 p.m. outside 2-108. Scores posted by 4-digit I.D. by
8:00 p.m. tonight outside 2-108. Calculators not permitted. Use good judgment
in simplifying answers. Good Tuck.

1. MWhat is the derivative of the function f given by
£(x) = sin(3x°-7x+9)?

2. Find the slope of the line tangent to the ellipse

2 2
x+ay_=1
al 2

at the point (3a/5,4b/5).
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ANsweEr kEY : Circle Recitation

Name

1. Deblassie (TR9)
o 2. Jerison (TR11)
Living Group 3. Mazzeo (TR12)
4. Malkus (MWT)
3-DIGIT I.D. 5. Ajtai #1  (MW2)
Soores 6. Kalai (TR10)
1. /10 7. Morgan (TR11)
§: ;}g 8. Richman (MW11)
‘5 710 9. Ajtai #2  (MW3)
g: ﬁ}g 10. Alon (TR12)
7 £15
8. /15

Check that you have all 4 pages. Put your name on each page. List above any
4-digit I.D. you will be able to remember, such as the last 4 digits of your MIT
I.D. Circle your recitation. Put your work and answers on this test. Circle

answers. The value of each problem is indicated in parenthesis, 100 points total.

Work and neatness count. In general, wrong answers receive no partial credit.
Solutions posted by 2 p.m. outside 2-108. Scores posted by 4-digit I.D. by
8:00 p.m. tonight outside 2-108. Calculators not permitted. Use good judgment
in simplifying answers. Good luck.

1. What is the derivative of the function f given by -

£(x) = sin(3x2-7x+9)?
) = ((63c- #) con (323 = 2+ 7D
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(10) 2. Find the slope of the Tine tangent to the ellipse

2 2
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at the point (3a/5,4b/5).
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ANMSWER KEY
Name 4-Digit ID Rec.

Instructor Rec. Time

Put your work and answers on this test. Circle answers. Scores

There are 10 problems, each worth 10 points, for 100 points
total. The last 2 problems are harder and require you to

bring together different concepts you have learned. 2.
Work at your best!

6 i 3.
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‘E.' I
W1 M i) (o & 6)

)’es) by COMP&II.SO'! wi th Z ":;'{ .

‘ /
\ .
\\ L]
™y \ /
:4//’/ y
- v, Sy
% L
i " - ,——'"‘T_‘j % 17 ; — I.Illl - ""‘\ ,\\ -
= i T S - T'* \ ¢ LAVE| - r—+ {
\::i C-_ /C et §—\’ — ! % i f l\' f o \ s Ak
—_— 3 —
G = Jee=—ti, 2 g Vo~ N
1 o = Noatf L S o {
WL Do e — AV T B B
1 "‘  ———
-)-'._ T =l . o~ E N Fi 2 —=a 4 )
— | iy | Y | T— > i 1 i :.r-._.-—'_ i
R v CER e fp ETO j i ol e O T
2 \ ! IJ_\ 4 '\] -_-F: F-‘\ . ——Ji I.
o | {/- 5y O . Y B g ; g . b
) 7N SR & . O
Mt et NG Sp— ] L | ? { — (]



